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1. Задание B14 (№ 128799)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +12x+13]на отрезке [image: [34;37]].

2. Задание B14 (№ 128801)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +6x+7]на отрезке [image: [140;145]].

3. Задание B14 (№ 128803)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +9x+3]на отрезке [image: [17,25;24,25]].

4. Задание B14 (№ 128805)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +9x+16]на отрезке [image: [17,25;22,25]].

5. Задание B14 (№ 128807)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +3x]на отрезке [image: [4;19]].

6. Задание B14 (№ 128809)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +9x+12]на отрезке [image: [76;92]].

7. Задание B14 (№ 128811)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +6x+7]на отрезке [image: [7;10]].

8. Задание B14 (№ 128813)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +6x+4]на отрезке [image: [34;49]].

9. Задание B14 (№ 128815)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +12x+9]на отрезке [image: [141;155]].

10. Задание B14 (№ 128817)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +3x+6]на отрезке [image: [1,25;4,25]].

11. Задание B14 (№ 128819)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +12x+8]на отрезке [image: [34;36]].

12. Задание B14 (№ 128821)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +6x+16]на отрезке [image: [32;47]].

13. Задание B14 (№ 128823)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +3x+8]на отрезке [image: [33;39]].

14. Задание B14 (№ 128825)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +6x+9]на отрезке [image: [141;144]].

15. Задание B14 (№ 128827)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +6x+10]на отрезке [image: [140;144]].

16. Задание B14 (№ 128829)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +3x+9]на отрезке [image: [34;37]].

17. Задание B14 (№ 128831)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +12x+8]на отрезке [image: [142;151]].

18. Задание B14 (№ 128833)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +12x+7]на отрезке [image: [32;40]].

19. Задание B14 (№ 128835)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +12x+14]на отрезке [image: [35;38]].

20. Задание B14 (№ 128837)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +3x+6]на отрезке [image: [0;6,25]].

21. Задание B14 (№ 128839)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +12x+7]на отрезке [image: [36;37]].

22. Задание B14 (№ 128841)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +6x+15]на отрезке [image: [139;144]].

23. Задание B14 (№ 128843)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +3x+8]на отрезке [image: [9;23]].

24. Задание B14 (№ 128845)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +9x+11]на отрезке [image: [16,25;22,25]].

25. Задание B14 (№ 128847)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +9x+12]на отрезке [image: [80;82]].

26. Задание B14 (№ 128849)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +3x+8]на отрезке [image: [8;18]].

27. Задание B14 (№ 128851)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +9x+14]на отрезке [image: [321;327]].

28. Задание B14 (№ 128853)
Найдите наибольшее значение функции [image: y=-\frac{4}{3}x^{\frac{3}{2}} +6x+4]на отрезке [image: [6;13]].

29. Задание B14 (№ 128855)
Найдите наибольшее значение функции [image: y=-\frac{2}{3}x^{\frac{3}{2}} +6x+14]на отрезке [image: [32;38]].

30. Задание B14 (№ 128857)
Найдите наибольшее значение функции [image: y=-\frac{1}{3}x^{\frac{3}{2}} +12x+7]на отрезке [image: [573;581]].
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